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Степень с натуральным показателем 


     
                      аn = а·а· … ·а           

    
     n    раз

 основание                                                           показатель                  

                     0n=0                      1 n=1
   аn(0,  при а(0

   аn(0, при а(0, n-чётное

   аn(0, при а(0, n-нечётное

ПРИМЕРЫ: 23=2(2(2,    2-основание,  3-показатель

   3(3(3(3(3=35=243 ;  (-3)((-3)((-3)((-3)((-3)=(-3)5=-243
   (-3)((-3)((-3)((-3)=(-3)4=81

Свойства степени с натуральным показателем

	№
	Свойство
	Пример

	1.
	a m · а n = a m+ n
	 а2· а3=а2+3=а5

	2.
	a m : а n = a m- n
	 а5: а3=а5-3=а2

	
	а0=1, при а(0
	 50=1,  (-3)0=1

	3.
	(a m) n = a m ·n
	 (а4)3=а12

	4.
	(а·b·c)n = а n ·b n ·c n
	 (а·b)2= a2·b2

	5.
	 a  n      a  n
 b          b n
	 a  3      a 3
 b          b3
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